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403 MtXSHHE X0l E 15,000 0 15,000
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O FANES2AdE=SA 15,000
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= 6,210,200
< 5,399,100
AQELAZHAHI LAY 4,425,000 0 4,425,000
= 3,750,000
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= 100,000
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403 A X EHH S =0l A 124,000 458,800 A 334,800
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jalicl el NP T 216,000 216,000 0
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sefRA=e SH YD
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2SN B () NEAY - BAS 0 AF o il HZS2
SMSATINBAIE (HEAIY) 1,200,000 780,000 420,000
403 IR SHHSA201 A 1,200,000 780,000 420,000
01 RXISAE 2 E 1,200,000 780,000 420,000
OIS AIE 1,200,000
ZMNERESEHEAHE (HEAY) 1,062,000 720,000 342,000
403 IR HAMSA201H 1,062,000 720,000 342,000
01 AIXISHMA2E X 1,062,000 720,000 342,000
OFMERESESUHAHE (F2UEN) 1,062,000
HYSAMESHHAE (MEAIS) 1,300,000 0 1,300,000
403 ItXISH XS K201 1,300,000 0 1,300,000
01 XXM A28 X 1,300,000 0 1,300,000
CoH 4o = e MIE 218 1,300,000
SNESSIHSLSHSNEA 547,000 342,330 204,670
403 X SHHMS K201 A 547,000 342,330 204,670
01 REXI SRR 8 X 547,000 342,330 204,670
SMNERSIISLELHSXA 547,000
S=MEXHAMEAEXA 161,552 167,272 N5,720
403 ItXISHHSA201 A 161,552 167,272 N5,720
01 RXISHAE 2 X 161,552 167,272 A5,720
OxMSHel MEAIE X 161,552
st 2 X3 28,000 28,000 0
307 212t01 & 28,000 28,000 0
04 QI2FSHALAIE 2 = 28,000 28,000 0
DIsdxn2=s8X& 28,000
SMEHAAHASKE 9,600 24,000 A 14,400
308 XX S M SO0l & 9,600 24,000 A 14,400
01 AIXHMBAEXZ 9,600 24,000 A 14,400
OxM=HAAFZBASKA 9,600
SRS HAA 18,000 16,000 2,000
307 QI2t0| ™ 18,000 16,000 2,000
04 DIZHSHAFAIRE 2 X 18,000 16,000 2,000
O30S0 HAA 18,000
LELUMNSFSHAIS (HEAIY) 1,000,000 600,000 400,000
308 AXISHXSO0IH 1,000,000 600,000 400,000
11 SISO USE AR E A 1,000,000 600,000 400,000
O+ HAY 1,000,000
T IEUAIELH LI AL XA 120,000 0 120,000
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308 XXM SOIA 50,000 50,000 0
01 XML EES 50,000 50,000 0
Os&otztdoledg 50,000
405 XtAtE SHI 3,000 3,000 0
02 =AM 3,000 3,000 0
O=sES23AE Nz 3,000
TUHHMFA=0=SCSHALY 300,000 300,000 0
= 210,000
< 90,000
308 XX EHHSOIA 300,000 300,000 0
= 210,000
< 90,000
113/ 2SHUHSZAEEALS I 300,000 300,000 0
U FA=US=E A 300,000
= 210,000
< 90,000
S A AR 120,000 180,000 260,000
308 XtXIEHHSOIA 120,000 180,000 260,000
01 AXHHIYEES 120,000 180,000 260,000
O=sE/RAMHAEE 70,000
O=SZS XA AL B A 10,000
OSE=TAMEIIANIZEWE 40,000
HeEsFAIIE(LELSR/UERE - EFSIIHY) 6,717,200 5,683,500 1,033,700
= 2,987,000
< 3,730,200
HewsMElA2 st 6,717,200 5,683,500 1,033,700
= 2,987,000
S 3,730,200
SSZUHBLE2LXNA 3,787,200 3,776,000 11,200
= 2,367,000
= 1,420,200
308 XXIEHHSOIA 3,787,200 3,776,000 11,200
= 2,367,000
) 1,420,200
01 AXHHIYEES 3,787,200 3,776,000 11,200
OSEZUHUL2AXNE 3,787,200
= 2,367,000
< 1,420,200
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EAXNEH S RFHIXR 1,000,000 0 1,000,000
308 AHAIEHHSOIA 1,000,000 0 1,000,000
01 HXNHHBHELS 1,000,000 0 1,000,000
OEAXNEHBLHFFH XA 1,000,000
EAXNGSMBE-ZFHAE2SHI KR 930,000 907,500 22,500
= 620,000
< 310,000
308 XXM SO0 A 930,000 907,500 22,500
= 620,000
= 310,000
01 IXNHHBNEES 930,000 907,500 22,500
OSMXSHHZTHAS2SH X 930,000
= 620,000
< 310,000
FEZUHAE2LXE 1,000,000 1,000,000 0
308 XXIEHHSOIA 1,000,000 1,000,000 0
01 AXHHILEES 1,000,000 1,000,000 0
ODE=2EHUL2HRE 1,000,000
HorstAFH| (& & /o) 7,332,480 14,700,408 AT,367,928
= 55,000
s 3,690,000
J| 1,070,150
< 2,517,330
H OO X HI A 2t el 7,332,480 14,700,408 AT,367,928
= 55,000
s 3,690,000
J| 1,070,150
< 2,517,330
I OFEHI AL 4,160,000 3,874,470 285,530
s 3,500,000
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207 Ao 1,000,000 1,000,000 0
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< 300,000
01 2284 1,000,000 1,000,000 0
OOt MM ZAH(ZSEHI) 1,000,000
as 700,000
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403 tXISHH S =0l & 3,160,000 2,874,470 285,530
s 2,800,000
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Odot™H At (2SS < HI) 3,160,000
s 2,800,000
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AT o & KI Al & & Xl 838,500
HLYBS A ALY (F &) 32,785 17,000 15,785
= 27,000
< 5,785
308 XX EHHSOIA 32,785 17,000 15,785
= 27,000
< 5,785
01 HIXNHHBNEES 32,785 17,000 15,785
OdfEs A At (H4) 32,785
= 27,000
< 5,785
HeEspA e At (XH2) 34,000 979,929 A 945,929
= 28,000
< 6,000
403 Mt S E X201 & 34,000 979,929 A 945,929
= 28,000
< 6,000
01 AXSHHM 22 = 34,000 979,929 A 945,929
OfgEs A At (X&) 34,000
= 28,000
= 6,000
THSAUAMY I 0HALS (M EAFS) 350,000 390,000 A 40,000
308 A EHHSOIA 350,000 390,000 A 40,000
01 AXSHBLAEES 350,000 390,000 A 40,000
OxgsodM I =04 AtS 350,000
OHMe D& SHALS 247,000 247,000 0
s 190,000
< 57,000
308 XX EHHSOIA 247,000 247,000 0
s 190,000
< 57,000
01 IXNHHBNEES 247,000 247,000 0
OoHgM eI ZSASE (RS EHI) 247,000
s 190,000
< 57,000
o MY D= HALS 140,000 140,000 0
308 XXIEHH SOl A 140,000 140,000 0
01 AXHHILEES 140,000 140,000 0
CIoH M Il =HALS 140,000
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01 AIXSHMENEX= 10,000 10,000 0
CIoHQHERIRHR 2 (2 /I &) 10,000
BHCHEtE X2 0l K& A 1,267,695 1,407,864 A 140,169
J| 975,150
= 292,545
308 XHXIGHH SO0l & 1,267,695 1,407,864 A 140,169
J| 975,150
& 292,545
01 AIKSHHEMNEXZ 1,267,695 1,407,864 A 140,169
OGSt X2 0l X & A 1,267,695
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HAOHOI I H & 22| =& A 3,000 3,000 0
201 et 9| 3,000 3,000 0
01 AR 22l ] 3,000 3,000 0
Ogst=2H| 3,000
OHOHE A A R AL AR DL H A 3,000
HIetH 2L AIRAS2H 42,000 0 42,000
401 AlEHIZL 2 0HY| 42,000 0 42,000
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[JAESSEtHA 2 AIR A & X 42 000
o LMY D (Bt )ABALY 78,000 58,500 19,500
J| 60,000
= 18,000
308 MXISHMSOIA 78,000 58,500 19,500
J| 60,000
& 18,000
01 HXHHIMNEXTZ 78,000 58,500 19,500
oMY D (R GHE ) A SHALY 78,000
J| 60,000
& 18,000
HYMENHEX Y2 A AHE B E2H 90,000 0 90,000
207 O 4| 90,000 0 90,000
01 A 90,000 0 90,000
OolYMEfHEX LA AT A E LB EA 90,000
HYMAYIIGHEAEX KR (XHE) 39,500 39,500 0
J| 35,000
& 4,500
403 XX SHHS K20 & 39,500 39,500 0
J| 35,000
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J| 35,000
< 4,500
SoHOIH LML (s Lo /HE 4 HHE) 3,053,000 2,815,235 237,765
HY 2 TUAMNLLALES 18,000 0 18,000
HECH2 & &8 AFHI X & 18,000 0 18,000
308 XXM SOl A 18,000 0 18,000
01 IXNSHHBNEES 18,000 0 18,000
CIHtCHSl & & ALEL KT & 18,000
oo a=sA 3,035,000 2,815,235 219,765
Ssoia AR 1,065,000 1,024,000 41,000
306 =932 1,065,000 980,000 85,000
01 &3 1,065,000 980,000 85,000
OsoidgdARA2E XA 1,065,000
SESHMLARJIFAS S 600,000 600,000 0
402 212t X201 & 600,000 0 600,000
01 212t 2 AL E = (REMTH ) 600,000 0 600,000
OSsiMdPARIEMNSS 600,000
HAHIOIQAEZ AL H ALY 100,000 50,000 50,000
308 X EHSOIA 100,000 50,000 50,000
113/ 2SoHUHSZHEEALS I 100,000 50,000 50,000
ol 2H0I M2 S AHALS 100,000
HAMEANRREATHLE 2L A EZS 150,000 102,600 47,400
308 XAXIEHSOIA 150,000 0 150,000
N 3JN2SUHUeBAEAE AR 150,000 0 150,000
OlddsHarELid=La4ss 150,000
P2 40,000 0 40,000
308 XtXIEHH SOl A 40,000 0 40,000
3 2SOHEHE & X 2 AL I 40,000 0 40,000
OB Addnd2d 40,000
STAIE I 2 (KOLAS)KI B A & & 50,000 0 50,000
308 MtXIEHMSOIH 50,000 0 50,000
1132 SoHUHSI S HAE ALS HI 50,000 0 50,000
O3 AIE I 2 (KOLAS)XI B2 & & 50,000
ZEHSZHIA 30,000 30,000 0
307 glz2tol & 30,000 30,000 0
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BsHNE=2R SN ool et
SSoiolY2AZ I RF (ML /HS 8- HE)
el 2=y (&)
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
01 HXSHMA2E X 30,000 359,000 A 329,000
OZgPggdAdZIATIE&SdSEIL 30,000
CHstol =22 Mol 2l M 21 3 (KIMA) 290,000 290,000 0
= 200,000
< 90,000
308 XXM SOIA 290,000 290,000 0
= 200,000
< 90,000
01 AXHHILEES 290,000 290,000 0
COoistel == 1ol 2F el X213 (KIMA) 290,000
= 200,000
S 90,000
AFELATNLUNSHAHE 3,183,000 4,656,000 A 1,473,000
= 2,820,000
< 363,000
403 A X EHHS 20l A 3,183,000 4,656,000 A 1,473,000
= 2,820,000
= 363,000
01 X ESHMA=E L 3,183,000 4,656,000 A 1,473,000
OJa=8ididunsaAAg 3,183,000
= 2,820,000
= 363,000
HLEXNFHEHEH 3,640,000 2,600,000 1,040,000
= 2,800,000
= 840,000
403 XSS A=0l& 3,640,000 2,600,000 1,040,000
= 2,800,000
< 840,000
01 X SHMA=2E X 3,640,000 2,600,000 1,040,000
Lol X sHEHxd 3,640,000
= 2,800,000
< 840,000
O 22 TAAEIMNL (MEA) 5,668,000 12,408,500 26,740,500
403 UtXISHE X201 H 5,668,000 12,408,500 A 6,740,500
01 X SHHAN2E= 5,668,000 12,408,500 A 6,740,500
O8aZitelUHAFE LA 3,068,000
O&dESAHIEHDAHE 50,000
OJEfHSoi S AI22HE 1,300,000
OofetselHet=2EeExd 260,000
Olchi=di==YiddEgg22d 250,000
O SRt MO SALS 240,000
Dot (s)Z2M ALY 500,000
HLYHANMAZZWERIZ DA (MERA)2I XA (2H 200,000 0 200,000
HE ALY )
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N BRSO HYBBTARE(SL NS LA /HY S - O F)
e Yy M2 (2 &HH)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
308 XHXIEHSO|A 200,000 0 200,000
01 AIXSHMENMNEX= 200,000 0 200,000
Oy HAEZ=DNERIZ NS (HEWA)29X
2 200,000
HEPRAS M 134,792 495,166 A 360,374
=2 111,440
= 23,352
HENEAAHAE A 66,360 92,046 N 25,686
= 58,800
& 7,560
308 MXISHMSOIA 66,360 92,046 A 25,686
= 58,800
o= 7,560
01 AIXSHMENMNEXZ 66,360 92,046 N 25,686
OFEHGEAIHE XA 66,360
2 58,800
= 7,560
HEYU IS AEZXR(HAH) 3,432 3,120 312
= 2,640
& 792
308 XAHXIEHSOlIA 3,432 3,120 312
=2 2,640
= 792
01 AIKSHHEMNEXZ 3,432 3,120 312
OFAWHYQAANAE =X (HAHY|) 3,432
= 2,640
o= 792
HE0AMAOHE D 65,000 0 65,000
= 50,000
& 15,000
308 AMXISHHMSOIA 65,000 0 65,000
= 50,000
& 15,000
01 MIXHHIMNEEXTS 65,000 0 65,000
COHE=0 A A0tE D) 65,000
= 50,000
& 15,000
EZEEG Y 1,023,431 605,646 417,785
= 631,870
== 391,561
HESSXNHEH XS 500,000 500,000 0
= 250,000
o= 250,000
307 212t0| & 500,000 500,000 0
= 250,000
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- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Ei HR=2
= 250,000
02 QIZFA AAIE E X 500,000 500,000 0
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= 250,000
o= 250,000
HEMESAUSMEBEUHEXH 28,431 42,646 N 14,215
= 21,870
= 6,561
308 MXISHMSOIA 28,431 42,646 N 14,215
= 21,870
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01 IXHHINMNEEXTZ 28,431 42,646 N 14,215
OENESLUSAREHES A 28,431
= 21,870
& 6,561
HENSESHS 30,000 30,000 0
308 XHXIEHSOIA 30,000 30,000 0
01 AIXSHMENEX= 30,000 30,000 0
O=EdE2SAHS 30,000
HEMESSO==H 33,000 33,000 0
403 XX SHHS K20 & 33,000 33,000 0
01 XIS A=Z2E X 33,000 33,000 0
OENEs20i=sS 33,000
HEKSANEE2EXSE 195,000 0 195,000
= 150,000
= 45,000
403 XX SRS K 20| & 195,000 0 195,000
= 150,000
= 45,000
01 AXESHHE2E X 195,000 0 195,000
OEasAdssEXdHE 195,000
= 150,000
& 45,000
ZINELHE RAALS 237,000 0 237,000
= 210,000
= 27,000
403 XX SHHS K20 & 237,000 0 237,000
= 210,000
= 27,000
01 XIS A2E X 237,000 0 237,000
O2JI2HEKAAIE 237,000
= 210,000
= 27,000
UBLS AN =N (L 20t) 2,948,000 4,924,000 A 1,976,000
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Fag 2,948,000

A HE 2,948,000 4,924,000 A 1,976,000
Fag 2,948,000
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01 HXHHIMNEEXTZ 25,000 0 25,000
N3 Ao LSHAFK R 25,000

20SA22AXAS(sF /oY) 612,000 685,000 A 73,000

MRALDCHE Gl =282 A 612,000 685,000 A73,000

OtN S22 X & 362,000 304,300 57,700

201 et d| 3,000 0 3,000

01 AR 22l ] 3,000 0 3,000
Ogst=2H| 3,000
Ol == H2IAE N2 RS 3,000

308 AMXISHHSOIA 359,000 304,300 54,700

01 IXHHIMNEXS 359,000 304,300 54,700
OH==&AHRAXLRANAHHI XA 234,000
Odl+==FHIZAXZHH X 50,000
[Joll == &0l It 2| A2 2 10| 6H &+ K| K| & 29,000
OBLEAHMNHESKFKNMAH RS 30,000
Ole==2&A8gdH I} 16,000

HE=SAI|BHAIE S X 22l 250,000 265,000 A 15,000

403 XX SRS K 20| & 250,000 265,000 A 15,000

01 AXESHE2E X 250,000 265,000 A 15,000
o2& EHOYA LA™ LES 250,000

FHAX N (ZEL XSGR /X AL Al 3,974,000 2,800,000 1,174,000
g 3,974,000

SASE Y 3,974,000 2,800,000 1,174,000
Fag 3,974,000

CANESEHEAS 3,974,000 2,800,000 1,174,000
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A2 BEHKSEE SN ESHFMUSMHE
HH: EXORULASOUHE(SYHSSL/HY LN - 0 )
ol ESORENMMISHLLES (ero: @ 9)
AR 2N EH O () - MBEAY - BAS 0 AF o il HZS2
= 500,000
& 500,000
01 A& HI 987,000 1,968,000 A 981,000
OXESE=SHULAADALHE 987,000
= 493,500
T 493,500
02 Zcltl 8,000 27,000 A 19,000
OESP S80I BSAADALAR 22 8,000
= 4,000
& 4,000
03 Al& 201l 5,000 5,000 0
OSSO BANAZAEFEAIE L0 HI 5,000
2 2,500
< 2,500
SHE220 AR 2 290,329 356, 160 65,831
HEHABEZSHL (HEAY) 99,000 99,500 A 500
201 LEt2 Y| 8,500 0 8,500
01 AP 2t2l bl 8,500 0 8,500
OexsE 8,500
OYZHE=SEHIL XL 8,500
206 M= Hl 49,000 0 49,000
01 X2t 49,000 0 49,000
OW=HdMeNES 49,000
OrHPLS 20,000
O=JIY0ILHIEANIE RS 29,000
207 o2 | 41,500 99,500 A 58,000
03 A& o 2| 41,500 99,500 A 58,000
COMA2 2| D] XEIH & 25,000
OSXMAALSES 16,500
S 2O AH2 A EH Al & AF 15,000 8,000 7,000
207 A IR ] 15,000 8,000 7,000
03 A& & 2| 15,000 8,000 7,000
OMEHAHZANES2 S LS 15,000
SRMMYSR 146,329 198,660 A52,331
101 2124 4| 35,829 40, 160 N4, 331
04 JI2ZtH2ZXNEE S 35,829 40,160 N4, 331
OXNEEESNHHEAMER 35,829
oogy 73,2803 x2H x165Y 24,183
OxFs5=¢ 73,2803 x2H x33 4,837
O A 6,000 x2H 165 1,980
[@FnE=3:]| 3,000 x2% 165 990
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BsHRAEs SN ESORMAEHE
ZUHRAUASTURE(SYHSLL/HL S - OfE)
BASKES CERED
2SN B () NEAY - BAS 0 AF o il HZS2
OdIIANES 106,000
Oist=TAIEZ 10,000
OZ2sid2Ea2YdNSIME 3,000
A& &H| R AlH]| 117,747
OARAESLXIANESSIES 65,000
OgFMIILA2IISEEI S AL 10,647
O®EI| o™ 22| B 17,100
O2aXHMelAl&2teldl 12,000
OB XHASIHHI S 10,000
OXztWEI| 2l 3,000
O XteF & et 10,000
OSEXNHERFUHLEH S AL 10,000
401 AIEHIL 20| 380,000 50,000 330,000
01 A& HI 380,000 50,000 330,000
O2eAtS K SZ2tZ T X S A 30,000
Odotad+=HEHFHHEIAIS 350,000
A cs =l Ry =1y 100,000 0 100,000
BRI AH S D Y =X 100,000 0 100,000
308 AXISHXMSO0IH 100,000 0 100,000
11 SISO USHEAANRE A Y 100,000 0 100,000
OUWsHMAMZAINSHE 100,000
HHSHHBH(ESOHFALSIHEH)(IIEHIIE 1,469,132 1,439,372 29,760
A2 1,308,646 1,283,454 25,192
A 234l 1,308,646 1,283,454 25,192
101 @121l 1,235,706 1,259,514 N 23,808
01 2= 773,643 771,692 1,951
Ooles 582,491
O EH 79,517,000& 14 79,517
Oz A 453,980
-6z (223 2) 3,954,200& x5 x12& 237,252
-72((1682) 3,226,300& x 15 x12& 38,716
-82(588) 2,021,800 x2H x12& 48,524
-92(he ) 1,823,600 x2H 128 43,767
-HRA (182 2) 3,571, 7003 2 x12& 85,721
odz2=4¢ 454,002,000& *1/12%50%*23] 37,834
O&dIZx4Itat 3 11,160
- 25E 0l & 130,000& x3H x12& 4,680
- 203 0] 4254 0] 2 110,000& =»2H x12& 2,640
- 1549 0] 4204 0] 8¢ 80,000& x2H x12& 1,920
- 10E 0l & 154 0] 2F 60,000& *1H x12& 720




M ox
40 5 4

SN EXHE
U (ES0{ R A SHME ) (IEH/IIE)

tol

224 B SA(HH) - NRAY - BYS 0l &+ o4 il

- 5@ 01410 01 8t 50,0003 x2H 128 1,200

O=g 110,296

O+ 7,441

-HRESREAE 7,441

Seli® 3,964,850& 4. 1%*3H »12& 5,853

=< 3,226,300 *4 . 1%*1H 122 1,588

OJMN}HEESY 9,120

- s 9,120

i < Xt 40,0003 x7H «12& 3,360

B (DIE 20,000 x6H 128 1,440

=M XA 60,000& x5H 128 3,600

JIEHIHE 20,0003 x3YH 128 720

OExZ2fE 6,600

-fE2Rse 480

HE 40,0003 x 18 +128 480

-E2g22400l= *>g) 4,200

5@ 50,0003 x 18 «128 600

- 6,72 30,0003 »4H 128 1,440

- 8,92 20,000 x3H » 128 720

T3 (O AL) 30,0003 x2H x 123 720

Jb&EZ2 (AP DIAF) 20,0002 2 «12& 480

I3 (2EA) 20,0003 x 18 «12& 240

-Exgesg(drgesd) 1,920

AR 80,0003 x2H x12& 1,920

OANMZ 2R 87,135

-3H= 12,0023 x11H x10A| 2t+ 128 15,843

-ZUE 12,0023 x11H *45A| 2k 128 71,292

JEHZ AL 140,000& x 12 «12& 20,160

OYE F 0ty 454,002,000& *1/12x60%*23| 45,401

OHIE &I

533,519,000 »1/12%86%*1/30* 12 15,295

03 3R (RIHY)22HES 462,063

OESHFAIE 22 462,063

oJleg(1az) 2,023,2903 x11H x12& 267,075

OoJlg=xg(1a) 4,026,5803 x11H 44,293
OllAEdX=Z (18 2)

98,0803 x 11 12 12,947

(OP) ==F =4 6,960

- U Xt 40,0003 x7H 128 3,360

- AMAH 20,0003 x»4H 128 960

-SMAA 60,0003 x3H 128 2,160

- JIEHHS 20,0003 x2H x12& 480
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